EERREMSHRE-FAJVRAE(EREFI16EDHER
(S M4£8H4B~9RA15HMAR)
RF A K ER X RKAED (REHRYL)
FEERKEXEAI (RFAHY)
BESS TRMREFAEE( 1 Sv/h)
No TR X5 PRELT H"E 50cm T (P -4FBDFH{E) e
10,; SE %150 SE %150 4 %150
REHRE | AERE | AR | PERE | AEHE | TR
_ 50cm 0.09 0.07 0.07 0.07 0.09 0.09
794 |=F&HT REE =EME—REM 8RA17H
im 0.09 0.07 0.08 0.07 0.09 0.08
50cm 0.11 0.10 0.07 0.06 0.11 0.10
795 |=Z&HT REE =EMEREM 8H4H
im 0.10 0.09 0.07 0.06 0.11 0.10
_ 50cm 0.09 0.09 0.11 0.09 0.09 0.08
796 |=Z=HT REE =EBTRERFR 8H17H
im 0.09 0.08 0.11 0.08 0.09 0.08
50cm 0.12 0.09 0.12 0.10 0.11 0.09
797 |=F&HT REE L—kid sirBE=& 8H4H
im 0.11 0.09 0.12 0.12 0.12 0.09
. ) . 50cm 0.10 0.08 0.08 0.08 0.11 0.09
798 |=Z=HT CELE RECELE=FHRE 8H4H
im 0.10 0.09 0.09 0.07 0.11 0.09
50cm 0.08 0.07 0.09 0.09 0.09 0.08
799 |=F&HT TR =FATILFEFHE 8H4H
im 0.08 0.07 0.09 0.08 0.09 0.08
50cm 0.09 0.08 0.08 0.07 0.09 0.08
800 |=Z&HT YIFEE =EEETIHHE 8H4H
im 0.07 0.08 0.08 0.06 0.09 0.08
50cm 0.09 0.08 0.10 0.09 0.09 0.08
801 |=&HT INEEAR = FETIL R INERR 8H4H
im 0.08 0.09 0.10 0.10 0.09 0.09
50cm 0.08 0.09 0.07 0.07 0.10 0.10
802 |=&HT INEEAR =HBTI R E/NER 8H4H
im 0.09 0.09 0.07 0.07 0.10 0.10
50cm 0.16 0.15 0.11 0.08 0.10 0.09
803 |=&HT INEEAR ZFELET/IER 8H4H
im 0.16 0.14 0.11 0.09 0.10 0.09
50cm 0.12 0.07 0.08 0.07 0.10 0.10
804 | =&HT INERR =EEM=F/INER 8H17H
im 0.11 0.07 0.08 0.08 0.10 0.09
50cm 0.12 0.13 0.09 0.10 0.11 0.11
805 | =&HT INERR ZEFBTLEARNER 8H17H
im 0.12 0.14 0.09 0.09 0.11 0.11
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FF A ER M EARER (ST
BEEKERNERB(REFHID
BAESS R ERBIEE(L Sv/h)
= = RE-BES
No. | HETH R4 SHRELH BE | 50om P Fn (k- 4RO T 918) e
10,; SE %£15H SE %£15H 4 %150
nasn | nree | paee | Hasr | Baes | Bags
50cm 0.08 0.09 0.10 0.10 0.09 0.09
806 |=Z&HT INEEAR =HEILRB/INER 8g17H
m 0.09 0.09 0.10 0.11 0.10 0.09
50cm 0.13 0.12 0.12 0.10 0.14 0.10
807 |=&HT hE gL =HEE TR 8H4H
m 0.13 0.11 0.12 0.10 0.14 0.09
50cm 0.09 0.08 0.07 0.08 0.11 0.10
808 |=Z&HT hER gL ZHBI=HF DR 8H4H
m 0.09 0.08 0.08 0.08 0.11 0.10
. . 50cm 0.08 0.11 0.11 0.09 0.16 0.12
809 |=Z&HT EEFR HIM SR 8H17H
m 0.09 0.10 0.12 0.09 0.15 0.12
B 50cm 0.09 0.09 0.07 0.08 [E/O] ESEEADQ
810 |=&HT BHIEER EEREBIEMPERK 8H4H iy
a " - im 009 009 008 o008 [HhE-BES ] WL
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